<o @> (rad)

[y
TTTT] T T

1

=
o
iN

2 3
TPlpoT (PCA t%obeamlinélf)

< dcotl>)

—=— DQM_CKF_TT_base_noSel
—e— DQM_CKF_TT_retrainOldFiles113_noSel
—— DQM_CKF_TT_retrainOldFiles125_noSel

100r

o ™
o O
[

< 00, > (M)

N
o
I

20

......................

......................

.........................

[y
TTTT] T

o
28
2

1

2 3
TPlp?T (PCA tjbobeamliné'f)

<opyp, > ()

Ratio

iy
TTTT T T

1

I : 2 3
TPl[:g)T (PCA t%)obeamlin%)o

<od,> (um)

iy
TTTT] T

[any
o
iR

1

2 3
TPlp?T (PCA tjbobeamliné'f)



	Contents
	Page 1


